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G.CO.C.10: Interior and Exterior Angles of Triangles 1

1 In the diagram below of AACD, DB is a median to 3 In the diagram below of triangle MNO, ZM and
E’ and AB = DB. Z0 are bisected by MS and OR, respectively.
Segments MS and OR intersect at 7, and
D msN = 40°.

A B C

If m£DAB = 32°, what is mZBDC?

1) 32°
2) 52° )
3) 58 If mLTMR = 28°, the measure of angle OTS is
4) 64° 1) 40°

2) 50°

3) 60°

4) 70°

2 In the diagram below, DE divides AB and E_
proportionally, mZC = 26°, m£4 = 82°, and DF

bisects £BDE. 4 1In the diagram of A ABC below, AE bisects angle

A BAC, and altitude BD 1s drawn.

/E\ A
D E
D
26°

5! - c F

The measure of angle DFB is

1) 36°
2) 540
3) 720 B 3 c
4 82 If m/C = 50° and mZABC = 60°, m/FEB is
1) 35°
2)  40°
3) 55°

4) 85°
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5 In the diagram below otAABC , CBF is drawn,
AB bisects ZFBD, and BD 1 AC.

F.

A D Cc

If mZC =42° what is mZA4?
1) 24°
2) 33°
3) 48°
4) 66°

6 In the diagram below, mZBDC = 100°,
m/A4 = 50°, and mZDBC = 30°.

B

A D C

Which statement is true?
1) AABD is obtuse.
2) AABC is isosceles.
3) mZABD = 80°

4)  AABD is scalene.
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